Plans and specifications | Landscaping and Interpretation
PHASE 4

3 R

- [ON FLATS

INTERPRETIVE PANELS

Presented to
Canadian Heritage
July 26 2016, revision

environnement + communications



#1 #2 #3 600
Archway Archway Archway: 7 _____ 5. __

| Axis | Axis | Axis ‘I
‘—LAL__ |

&
2280
i

Diffmmie-

R S &
-~ | H i i Bl R _ 111 _ L e Central axis
& H g il g o 1Ll g Ll g ]
w0 ' -
| | | &
N -
o —
S
:._é..-_-.._---_-.:
ZONE 1 ZONE 2 ZONE 2 ZONE 2 ZONE 3 ZONE 3
Fleck Fountain Vertical Vertical Vertical (3) xText rail (3) x Banner post
Text rail panel panel #1 panel #2 panel #3 panel (High) & foundation
(Low) & & foundation & foundation & foundation & foundation
foundation
o o
NOTES %J NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Phase 3 : DESIGN FINAL . Interpretive Fleck Fountain DATE 28/04/2016
For Reference Only 7 Michel Paquette Panels Site plan DRAWNBY. Michel Paquette
( Fleck Foutain Park | Panel position VERFIEDBY: Frédéric Saint Laurent
1 West Side layout SCALE: 1:80 01
CANADIAN HERITAGE El




|

—
[
= _ \
ZONE 1 ZONE 2 ZONE 2 ZONE 3 ZONE 3
Fleck Fountain Vertical Vertical (3) xText rail (3) x Banner
Text rail panel (Low) panel #2 panel #3 panel (High) post
(@)
o .
NOTES NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Phase 4: PLANS AND SPECIFICATIONS Inte I’p I‘etlve General DATE: 25/02/2016
. Michel Paquette P I . ' .
o anels _ Cross section DRAWNBY: Julien Le Hégarat
1 ( Fleck Foutain Park VERFIEDBY: Frédéric Saint Laurent
é - ™ West Side SCALE 1:60 02
ol CANADIAN HERITAGE El




NOTES

u

16 3/4"

28 1/4"

CANADIAN HERITAGE

Phase 4: PLANS AND SPECIFICATIONS

Michel Paquette

211/2"

3/4" Folia graphic panel
mounted onto 1/4" galvanized steel plate

Frame
1/2" galvanized steel flat bar

(31/2" x2" x .188") rectangular steel tubing
Powder coated finish

Concrete base (existing)

NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Interpretive Zone 1 DA 02/05/2016

Panels Text rail DRAWNBY:  Julien Le Hégarat

Fleck Foutain Park (low version) VERIFIED BY: Frédéric Saint Laurent

West Side SCALE 1:15 03




3/4" Folia panel
(high pressure laminate)

1/4" galvanized steel plate )

graphic panel support

@ 5/8" Threated rod

+ acorn nut bolt and washer

+1/8" steel plate welded endings
Powder coated (black)

(31/2" x 2" x .188") rectangular steel tubing 4+ =

3/4" Folia graphic panel
with 1/4" reveal at back

1/4" galvanized steel plate
Folded top and bottom

Connecting angle

1/4" galvanized flat bar
welded to frame and graphic panel suuport

Frame

(1/2" x 6") galvanized steel flat bar

SIDE VIEW SCALE 1:2

CANADIAN HERITAGE

o~ -
‘L‘\
'L'\\\
] ; Graphic panel fastener
fffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffff : . Security Hex Socket
l i . Flat head cap screw 8-32 (L=3/4")
i | 283/8" 120 Spanaeur 381-399
R 11" r
2 % 26 1/4" typ.
e = S ————— T e — (1/2" x 6") galvanized flat bar welded frame
T T
41/4" 500 Existing concrete base
61II + 6 ‘f
63'.
CROSS SECTION
NOTES NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Phase 4: PLANS AND SPECIFICATIONS _ Interpretive Zone 1 DATE  12/05/2016
Michel Paquette -

Panels Text rail DRAWNBY: Julien Le Hégarat

Fleck Foutain Park | structure VERIFIEDBY: Frédéric Saint Laurent

West Side detail SCAE 1:10 04




27"

1II
4" —e 1/2"
— 00— ‘*L—
21/4" |
° ® \
\
\
\
( \
81/2" \
\
\
\
[ \
° ° 211/2" !
\
\
\
\
o |
| |
! I {1209
| |
| 61/2" | 61/2"
. | |
| \
. | i
* L e
1/2"
11/2 11/2"
Perforations for 8-32 screws

for graphic panel assembly to
galvanized steel support plate

3/4" Folia graphic pane

fmnie-

NOTES

CANADIAN HERITAGE

Phase 4: PLANS AND SPECIFICATIONS

Michel Paquette

NOM DU PROJET / PROJECT NAME

TF% (11/2"x11/2" x 1/4")

galvanized steel connecting angle
welded to graphic panel support and frame

1/4" galvanized steel plate

TITRE DU DESSIN / DRAWING TITLE

welded to connecting angle

(1/2" x 6") galvanized steel flat bar

INFORMATIONS FEUILLE #

Interpretive
Panels

Fleck Foutain Park

West Side

Zones 1 +3
Graphic panel
support

fabrication detail

DATE: 02/05/2016
DRAWN BY: Julien Le Hégarat
VERIFIED BY: Frédéric Saint Laurent

SCALE: 1:5 05




fmnie-

. 62" 3/4"
27" 4" e 1/2"
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ——————— e
21/4" |
o o ) r'y «m%
\
\
\
‘( \
\
81/2" |
\
\
‘ \
\
° ° ° ° 211/2" g
\
\
\
\
|~
| \
| \
| \
| \
¢ ° ° e !
| \
1/4" |
fffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffff . | |- -
381-399 Spanaeur 3/4" Folia graphic panel
Security Hex Socket including 1/4" reveal top and bottom
Flat head cap screw 8-32 (3/4" length) for panle assembly to support plate
+ metallic inserts
for graphic panel assembly to plate support
o
NOTES DIO d 0 NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Phase 4: PLANS AND SPECIFICATIONS Michel Paquatte Interpretive Zones 1 + 3 DATE: 02/05/2016
‘ Panels graphic panel DRAWNBY: Julien Le Hégarat
Fleck Foutain Park and support VERIFIEDBY: Frédéric Saint Laurent
West Side fabrication detail | sue  1:5 06
CANADIAN HERITAGE




3/4" Folia graphic panel

1/2" galvanized steel frame

(31/2" x 2" x .188") rectangular steel tubing

Powder coated finish (black)

J shape threated rod

for assembly/anchoring of panel base

High density concrete slab

NOTES

Phase 4: PLANS AND SPECIFICATIONS

CANADIAN HERITAGE

o

e

JARNRURANL._ ANRNNRARRNRVARVARARNARRMAN S G

ANCHORING DETAIL CROSS SECTION

Michel Paquette

NOTE:
Concrete base foundation and J shape threated rod
installation are not included in this contract.

Fabricator is responsible of on site measuring and
producing a template in order to position accurately
hole pattern on square metal tubing and frame.

Fabricator is also responsible for the installation,
levelling and anchoring of the frame, components
and interpretive panels Fabricator to guarantee
physical integrity, solidity and wind load resistance
of all structure, panels and fastening methods.

m

NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Interpretive Zone 1 DNE  15/04/2016

Panels Text rail DRAWNBY:  Julien Le Hégarat

Fleck Foutain Park anchoring VERIFIEDBY: Frédéric Saint Laurent

West Side detail SCAE 1:5 07




Frame
1/2" galvanized steel plate

(31/2" x2" x .188")
rectangular steel tubing
Powder coated finish

Concrete base (existing)

=

NOTES

Phase 4: PLANS AND SPECIFICATIONS

CANADIAN HERITAGE

—— —
61 n
55..
67" 7 79 1/4"
73 1/4"
66 1/4"
> > -
———— ——
—
Panel #2 Panel #3
l'idée projetée dans la forme NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
, Interpretive Zone 2 DATE  15/04/2016
Michel Paquette -
Panels Vertical DRAWNBY: Julien Le Hégarat
( Fleck Foutain Park | panel VERIFIEDBY: Frédéric Saint Laurent
T") WeSt S|de family SCALE: 1:15 08
£




ilfumje

Perforation

for flat head screws #8
to fastened graphic panel to square tubing

(1" x 1" x.125") galvanized square tubing

welded to frame
for graphic panel assembly

Welded frame 4

(1/2" x 6") galvanized flat bar

Acorn nut bolt + washer for 5/8" threaded rod

ol

olf

ol

o|

(31/2" x 2" x .188") rectangular tubing
including 1/8" end caping welded steel plate

[ W

Powder coated finish (black) +

Existing concrete base —————4 | * .

3 different
height

7311

/A R\ /AR L AN WA R\ V/ARY,. JA WA N\ LA | &

Title graphic panel

1200 dpi UV resistant direct inkjet print Ink

onto 1/2"Cedar panel laminated to 5/8" marine plywood
+ marine grade varnish/lacquer

1/4" Folia graphic panel
laminated to 5/8" marine plywood

1/2" Folia graphic panel
with metallic inserts and mechanical
SCrews

REAR VIEW CROSS SECTION
O o
NOTES |'idée projetée dans la forme NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS
Phase 4: PLANS AND SPECIFICATIONS ;] Michel Paquette Interpretive Zone 2 DNE  15/04/2016
Panels vertical panel DRAWNBY: Julien Le Hégarat
( Fleck Foutain Park structure detail VERIFIEDBY: Frédéric Saint Laurent
m West Side SCALE 1:10
CANADIAN HERITAGE A




(1" x1"x.125")
galvanized steel tubing
welded to frame

(1/2" x 6") frame
galvanized steel flat bar

- p \\‘;.z.'
£V )
TS AN S
9 14"(.(/“ s A": ;_;«\_3//,’/2‘ :‘;:A‘C(/ L]
1/4" typical
T n =
5/8" typical
3/8" typical / yf
. A
381-781 Spanaeur 281'69[2 Elpansaeukr .
Stainless Steel Security Hex Socket Fleiuh” yd EX S0CKe 832
Flat head cap screw 8-32 at head cap Screw o-
N countersunk in graphic panel
625-001 Spanaeur
Threaded steel insert (1" x 1" x.125")
625-001 Spanaeur rectangular galvanized steel tubing
for graphic panel welded to frame
assembly to frame including perforations for 8-32 screws
Laminated title graphic panel
(1/2"x 12 3/4" x 26 1//2") Cedar panel
+ 1200 dpi UV resistant direct inkjet print Ink
+ marine grade varnish/lacquer 1/2" Folia graphic panel
5/8" marine plywood
+ marine grade varnish/lacquer
1/4" Folia graphic panel
laminated to 5/8" marine plywood
CROSS SECTION CROSS SECTION
BACK PANEL ASSEMBLY FRONT PANEL ASSEMBLY
[¢]
o o
NOTES dée proietée da 3 fo NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Phase 4: PLANS AND SPECIFICATIONS Michel Paguette Interpretive Zone 2 DATE: 15/04/2016
e Panels Graphic DRAWNBY: Julien Le Hégarat
( Fleck Foutain Park panel VERIFIED BY: Frédéric Saint Laurent
. IR’ West Side details SCALE 1:1 10
Umi wi | CANADIAN HERITAGE A




| 28" }

27" l 26 1/2|| l
31/a" [ Lr l
5 5 hd ? o - -
) 3 1/4“ 3II
Threaded perforations for 8-32 o o
screws for graphic panel assembly to
square tubing 12 3/4"
14" 14"
o o Metallic inserts e
at back of graphic panel
14|| 48 1/4“ 48" 14||
60II
o o o 4‘.—
14" 14"
3ll
° = ° —————
=N =N =N
[¢]

NOTES orG d ) NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Phase 4: PLANS AND SPECIFICATIONS ichel Pacuett Interpretive Zone 2 DATE: 15/04/2016
et raquette Panels Vertical panel #1 DRAWNBY: Julien Le Hégarat
Fleck Foutain Park | front face detail VERFIEDBY: Frédéric Saint Laurent
. . West Side SCALE: 1:10 11
fwi i [ CANADIAN HERITAGE




i o
»

Threaded perforations for 8-32
screws for graphic panel assembly to
square tubing

NOTES

Phase 4: PLANS AND SPECIFICATIONS

27II
21/4"
2 1-/4"
48 1/4"
22II
=N =N =N

Metallic inserts
at back of graphic panel

Michel Paquette

26 1/2"

48“ o

22“

"

NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Interpretive Zone 2 DATE  15/04/2016

Panels Vertical panel #1 | orawee Julien Le Hegarat

Fleck Foutain Park back face detail VERIFIEDBY: Frédéric Saint Laurent

West Side SCALE 1:10 12

CANADIAN HERITAGE



il o

)i
1

. 28"

21" ’ 26 1/2" .
31/4" ( + 3gn l
S A —4q = ——
Threaded perforations for 8-32 i 31 _/ 4 3
screws for graphic panel assembly to
tubi
square tubing 12 3/a"
16 1/4" 16 1/4"
o Metallic inserts N
at back of graphic panel
16 1/4" 55 1/2" 55" 16 1/4"
67..
o G| ——

16 3/8" 16 3/8"

° e

=y = =y

o
NOTES NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Phase 4: PLANS AND SPECIFICATIONS % ) Interpretive Zone 2 DATE: 15/04/2016
Michel Paquette -
Panels Vertical panel #2 | oy Julien Le Hégarat
( Fleck Foutain Park front face detail VERIFIEDBY: Frédéric Saint Laurent
m West Side SCALE 1:10 13
CANADIAN HERITAGE El




ifmie-

Threaded perforations for 8-32
screws for graphic panel assembly to

square tubing

NOTES

Phase 4: PLANS AND SPECIFICATIONS

27II
21/4"
21/4"
o 55 1/2"
251/2"
o] z:l
=N =%

Metallic inserts
at back of graphic panel

Michel Paquette

26 1/2"

55" o

25 1/2"

———
2II .

NOM DU PROJET / PROJECT NAME

TITRE DU DESSIN / DRAWING TITLE

INFORMATIONS FEUILLE #

Interpretive
Panels
Fleck Foutain Park

West Side

Zone 2
Vertical panel #2
back face detail

DATE: 15/04/2016
DRAWN BY: Julien Le Hégarat
VERIFIED BY: Frédéric Saint Laurent

SCALE: 1:10 1 4

CANADIAN HERITAGE



e

} 28" }

27" . 26 1/2" .
31/4" [ + 3gm l
S hd e - - ——
_ 31/4" 3"
Threaded perforations for 8-32 o ° . s
screws for graphic panel assembly to
square tubing 12 3/4"
18 1/4" J, 18 1/4"
R R Metallic inserts .
at back of graphic panel
611/4"
18 1/4" 61" 18 1/4"
73II
18 3/8" 18 3/8"
o o 4‘ o (o]
=N =N =N
[¢]
NOTES Dro d 0 NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Phase 4: PLANS AND SPECIFICATIONS ) Interpretive Zone 2 DATE: 15/04/2016
Michel Paquette -
Panels Vertical panel #3 | orawee Julien Le Hégarat
Fleck Foutain Park front face detail VERIFIEDBY: Frédéric Saint Laurent
West Side SCALE 1:10 15
CANADIAN HERITAGE




bifmie-

Threaded perforations for 8-32
screws for graphic panel assembly to

square tubing

27II
2 1/4"
o 21/4"
611/4"
28 1/2"
o _ 2.“
=N = =N

NOTES

Phase 4: PLANS AND SPECIFICATIONS

Metallic inserts
at back of graphic panel

Michel Paquette

26 1/2"

61" —eo—|

28 1/2"

—————
2II

NOM DU PROJET / PROJECT NAME

TITRE DU DESSIN / DRAWING TITLE

INFORMATIONS FEUILLE #

Interpretive
Panels

Fleck Foutain Park
West Side

Zone 2
Vertical panel #1
back face detail

DATE: 15/04/2016
DRAWN BY: Julien Le Hégarat
VERIFIED BY: Frédéric Saint Laurent

SCALE: 1:10 1 6

CANADIAN HERITAGE



3 hauteurs
60“ ° 73II ° 79Il

1/2" galvanized flat bar frame

(31/2"x2"x.188")
rectangular steel tubing
Powder coated finish (black)

JAARNANANE. . NRVAAURNVRRNRRRRARRAARNVRRY

Existing J shape threated rod
for panel structure assembly

NOTE:
Concrete base foundation and J shape threated rod
installation are not included in this contract.

Existing high density concrete slab Fabricator is responsible of on site measuring and

producing a template in order to position accurately
hole pattern on square metal tubing and frame.

Fabricator is also responsible for the installation,
levelling and anchoring of the frame, components
and interpretive panels Fabricator to guarantee
physical integrity, solidity and wind load resistance
of all structure, panels and fastening methods.

O o
NOTES |;];| NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Phase 4: PLANS AND SPECIFICATIONS Michel Paquett |nterpretive Zone 2 DATE: 15/04/2016
anete Panels Vertical panel DRAWNBY: Julien Le Hégarat
( Fleck Foutain Park anchoring details | errEpsy: Frédéric Saint Laurent
m West Side SME  1:5 17
CANADIAN HERITAGE E




ifmnje

45"

31"

NOTES

CANADIAN HERITAGE

Phase 4: PLANS AND SPECIFICATIONS

62“

¢
?

211/2"

QUANTITY: 3 units

3/4" Folia graphic panel

fastened to 1/4" galvanized steel plate
assembled on galvanized steel 1/4”
See details page 4 and 5

Frame

1/2" galvanized steel flat bar

(31/2"x2"x.188")
rectangular steel tubing
powder coated finish (black)

Existing concrete base

dé NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
ichel Paquette Interpretive Zone 3 DAE 15/04/2016
Panels Typical DRAWNBY: Julien Le Hégarat
() Fleck Foutain Park text rail VERIFIED BY: Frédéric Saint Laurent
D) -
! West Side panels SCAE  1:15 18
El




3/4" Folia graphic panel
including 1/4" reveal top and bottom
for assembly to steel plate support

1/4" galvanized steel plate support
See construction details page 4 and 5

Connecting angle

1/4" galvanized steel plate
welded to frame and graphic
panel support

Frame
(1/2" x 6") galvanized steel flat bar

% 62" %
3/4" Folia graphic panel L /\

ft‘
'L'\\\
1/4" galvanized steel plate support o
for graphic panel assembly 1 -
3 { 381-399 Spanaeur
= - SIS ; i Security Hex Socket
1 - . Flat head cap screw 8-32 (L=3/4")
R 8 120 +metallic inserts
] for graphic panel assembly to support
: “ 25II
Acorn nut bolt and washer
for #5/8" galvanized threated rod : K
: % 26 1/4" typ.—f ;
K - Y — N I Frame
w o " e —
(3172 2" x .188') ' 2" [ ] (1/2" x 6") galvanized steel plate
rectangular steel tubing N N S I PRI - P e T
including 1/8" welded T R o S D o R 41/4" L Existing concrete base
steel plate end caps : LS : P : P Z IR . L
Powder coated finish (black)
X
61"
63'.
O
O [e]
NOTES NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Phase 4: PLANS AND SPECIFICATIONS . Interpretive Zone 3 DATE 02/05/2016
. Michel Paquette -
Panels Text rail DRAWNBY: Julien Le Hégarat
( Fleck Foutain Park structure VERIFIED BY: Frédéric Saint Laurent
m West Side details SCALE 1:10 19
CANADIAN HERITAGE A




3/4" Folia graphic panel 211/2

Frame
1/2" galvanized steel flat bar

(31/2"x2"x.188")
rectangular steel tubing
Powder coated finish (black)

ATV VAT T

Existing J shape threated rod

NOTE:
Concrete base foundation and J shape threated rod
installation are not included in this contract.

Fabricator is responsible of on site measuring and
producing a template in order to position accurately
hole pattern on square metal tubing and frame.

Existing high density concrete slab

Fabricator is also responsible for the installation,
levelling and anchoring of the frame, components
and interpretive panels Fabricator to guarantee
physical integrity, solidity and wind load resistance
of all structure, panels and fastening methods.

CROSS SECTION ANCHORING DETAIL

O o}
NOTES |;];| dée proietée dans la forme NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Phase 4: PLANS AND SPECIFICATIONS Michel Pa |nterpretive Zone 3 DATE: 15/04/2016
quette Panels text rail DRAWNBY:  Julien Le Hégarat
( Fleck Foutain Park anchoring VERIFIED BY: Frédéric Saint Laurent
™ West Side details SCAE 1:5 20
CANADIAN HERITAGE B




70"

B

NOTES

Phase 4: PLANS AND SPECIFICATIONS

CANADIAN HERITAGE

“

TECHNIMA MAST AND
BANNER SUPPORT SYSTEM

18 0z + (24" x 70") Vinyl banner
including top and bottom pockets
and windload perforations

1200 dpi UV resistant inkjet print

Cast aluminum banner support post system
@13/4" (L. £28") tubing

anchor bolts ans 3/4" stainless steel
retaining straps

Technima banner mast
(841/2" x 15'-0" x 0.188")

6063-T6 Aluminum post
dé NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Michel Paquette Interpretive Zone 3 DA 25/02/2016
Panels Banner post DRAWNBY: Julien Le Hégarat
(» Fleck Foutain Park general view VERIFIED BY: Frédéric Saint Laurent
I%. West Side SCALE 1:20 21




Technima

banner mast system

(841/2" x15-0" x 0.157")
aluminum post

welded to mounting flenge/plate
(360° double welded cord)

(10" x 10" x 3/4")
Technima
mounting flenge/plate

NOTE:
Concrete base foundation and threaded rod
installation are not included in this contract.

Fabricator is responsible of on site measuring and
producing a template in order to position accurately

hole pattern on mounting flenge / plate.
Existing threated rod

Fabricator is also responsible for the installation,
levelling and anchoring of the banner mast and
components. Fabricator to guarantee physical
integrity, solidity and wind load resistance

of all structure, post and support system.

RN
e

O o
NOTES dée proietée dans la forme NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Phase 4: PLANS AND SPECIFICATIONS i :
Michel Paquette ::?tergl)retlve Zone 3 DATE: 25./04/2016
aneils ] Banner post DRAWNBY: Michel Paquette
( Fleck Foutain Park anchoring VERIFIED BY: Frédéric Saint Laurent
m West Side detail SCAE 1:5 22
CANADIAN HERITAGE B




Technima
banner and flag mast
(g41/2" x 15'-0" x 0.188")

Ilm Banner Mast

mlnimag

164

6063-T6 Aluminum post
15’
v 360 degree weld
L - - — = —_—_———d
T 25" [
360 degree interior \Aield
.25"postwall
O
NOTES l'idée projetée dans la forme NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Phase 4: PLANS AND SPECIFICATIONS ;] i
Michel Paquette ::Pte”l)retlve Zone 3
¢ anels ] Banner
[ 1 ( Fleck Foutain Park | post details
- m West Side 23
 Amis— CANADIAN HERITAGE El




2'—11”
GENERAL NOTES: RO

1. ANY DEVIATION FROM THE CONDITIONS SHOWN ON THE DRAWINGS SHALL BE SUBMITTED TO THE
ENGINEER.

2. CONTRACTOR SHALL VERIFY ALL DIMENSIONS AND ELEVATIONS PRIOR TO COMMENCING WORK. SIGN BY OTHERS

DO NOT SCALE DRAWINGS. ‘ / (CONTRACT B)
3. STRUCTURAL DESIGN DONE IN ACCORDANCE WITH:

CSA A23.3—14 DESIGN OF CONCRETE STRUCTURES;
HILTI ANCHOR FASTENING TECHNICAL GUIDE (2011 EDITION);
CSA S6—14 CANADIAN HIGHWAY BRIDGE DESIGN CODE.

6'~0"
MAX

client

THESE DRAWINGS HAVE BEEN REVIEWED WITH RESPECT TO THE STRUCTURAL REQUIREMENTS OF
THE CANADIAN HIGHWAY BRIDGE DESIGN CODE (2014) ONLY. NON-STRUCTURAL DETAILS SHALL
BE CONFIRMED BY OTHERS. s

4. DESIGN LOADS (SPECIFIED):
DEAD LOAD = 100 kg PER SIGN: . //E\\
WIND LOAD = 0.89 kPa;
q = 0.295 kPa, Jo YEARS (OTTAWA, ON);
1.0, Cy = 2.5
1.2 (TABLE A3.2.2: SIGN PANELS AND NOISE BARRIERS).

VISOU DESIGN

art engineering NG

17
Ca

OA»LJ Carada
* Fae (& ns)s c-i2ze

15'—-0"
MAX
w
()
o

it

o !

Ce
Ch

5.  MATERIALS:
CONCRETE:
FOOTING, f'c = 20 MPa, CLASS F—2 c/w 5-8% AR ENTRAINMENT

scale 3/8" = 1'=0”

" ALUMINUM POLE & STAND— OFF

!
/

"REINFORCING -STCEL, CSA G30.18 400R (OR 400W); : Q1% - BASE PLATE BY OTHERS { — S
ANCHOR BOLTS HEAVY HEX HEAD c/w RUBBER GASKETS & WASHER, ASTM F1554 GRADE 36 ) > = , L (CONTRACT B) : - ——
SIKA BITUMINEN OR APPROVED EQUIVALENT; R = B 4% S P 0. |FOR CLENT'S REViEW  |27-04-

'\“"'Hn_l"l HIT=HY 200 SAFE SET ADHESIVE ANCHORING SYSTEM.

revisions date

“« )
N \
|V B
NN BN

6. ARRANGEMENT, GEOMETRY AND CONDITIONS WITH THE EXISTING STRUCTURE ARE ASSUMED TO ) /TN A detl ve,
BE AS INDICATED IN PANNEAUX D'INTERPRETATION PARC ANISHINABLE COTE EST p /f{\ SOIL COVER S ot e
(DATED APRIL 25, 2018). \ SC_9 BY OTHERS sur dessin no,”
i’\ B -— 3,7 rojec =
7. PROPRIETARY ~PRODUCTS ~(INCLUDING HILTI EPOXY) SHALL BE INSTALLED AS PER THE | A HE,\IAVEM%%X BOLT proseet
MANUFACTURER'S INSTRUCTIONS. ; 7 (HDG) 14" MIN. ' ANISHINAABE SIGN
) (CONTRACT A) FOOTING & ANCHORAGE
8. ALL METAL FASTENERS, AND ACCESSORIES SHALL BE HOT DIPPED GALVANIZED (HDG) AS PER | PARC DES PLANES LEBRETON:
ASTM  A153. ) COTE EST OTTAWA, ON
12. CONCRETE SHALL BE PLACED IN CONFORMANCE TO CSA A23.1. CLEAR COVER TO REINFORCING | 4 EXISTING SOIL OR FILL Seamis
STEEL SHALL BE 3” IN ALL LOCATIONS. ( ] 5 16" CONCRETE
13. THESE DRAWINGS SHOW THE FOOTING AND ANCHORAGE OF THE SIGN TO THE FOOTING ONLY. 2 i FOOTING w/ 4 — 10M VERTICAL GENERAL NOTES &
THE STRUCTURAL COMPONENTS OF THE SIGN SHALL BE CONFIRMED BY OTHERS. = BARS & 3 — 10M TIES EQUALLY SIGN 4: ELEVATION
el - SPACED
14. REINFORCING STEEL, DOWELS, AND CAST IN PLACE HEAVY HEX BOLTS SHALL BE INSPECTED BY i
THE ENGINEER PRIOR TO POURING. = “Cf (CONTRACT A)
N
FOOTING ANCHORED TO
2 BEDROCK w/ 4 — HILTI
T HIT—HY 200 & 10M DOWELS & ‘
™~ EQUALLY SPACED w/ ) € 0.PWHDELCH %
12”7 MIN. EMBD. & 24" LAP LENGTH 100175002
- (CONTRACT A)
o~
N EXISTING SOUND
NON—-FROST—-SUSCEPTIBLE
B ED R OC K designed reviewed
J.1.B. J.S.
/1 SIGN 4 FOOTING (OPTION 1) s [TThw
Q_:/ 3/8"=1"-0" ELEVATION April 29, 2016
project number drawing number
3505 SC=-1




/ iy TO”
N A %" ¢ 16” CONCRETE FOOTING
SIGN BY OTHERS / w/ 6 — 10M VERTICAL BARS &

%"

(CONTRACT A)

/ (CONTRACT B) 3 — 10M TIES EQUALLY SPACED

MAX.

6’-—-0”

o\
10"
71?

..... client
4 — ¢ 3" HEAVY HEX BOLT
— @ w/ RUBBER GASKETS VISOU DESIGN
......... 14" MIN EMBD. (HDG)
. /’i‘\ S A VAN N\~ (CONTRACT A)
(@) — | A\ S T B -
e z
e v SC- S ! ALUMINUM POLE & STAND-OFF o=| art engineering ine.
- ~ BASE PLATE BY OTHERS. ) c\=| [
4 | (CONTRACT B) A '
A wae VARIES
N <§( ALUMINUM POLE & STAND-OFF 'ff} w 1 1/2 =1"=0" DETAIL 1. |Revisep 29-04-16
» @ 4)/2" ) (B(/:XCS)ET;/[\—Q?ZB?Y OTHERS 0. |FOR CLENT'S REVIEW 270416
; / revisions date
AN ALUMINUM POLE & ) no. de détail
SOIL COVER PR ( ISOLATE ALUMINUM POLE BASE PLATE BY OTHERS B location draving no.
BY OTHERS ! { AND STAND OFF !f‘ sur dessin no.
— , BASE PLATE FROM (CONTRACT B) e
. o o iy SOIL COVER )| ANISHINAABE SIGN
)4 — ¢ %" HEAVY HEX BOLT w/ BITUMEN COATING BY OTHERS /
(CONTRACT A Y N\ . | LEVELING NUT SECURED TO | PARC DS PLANES LiBRETON:
S . A L _ HEAVY HEX BOLT (TYP.) |
) | ml I 4 — ¢ %" HEAVY HEX BOLT /| SIGN 4: ELEVATION
o~ ” ‘ . b e " ) & BASE PLATE
N <75 16" CONCRETE FOOTING | = 1 —— Eggg)TRléT i
Y 1w/ 4 — 10M VERTICAL R I [ S ¢
= — BARS & 3 — 10M TIES = I I ] ) *
™~ | EQUALLY SPACED ; I I ‘ T l ‘ ¢ 2” WASHER SECURED TO
| (CONTRACT A) ; & 4 % — HEAVY HEX BOLT w/ NUT
E v -1 TYP.) (CONTRACT A)
© ISOLATE ALUMINUM | /' b ( ,T
BASE PLATE |/ ~ ~_ E YIS D.PWEDELICH
AND HDG HEAVY -/ 1 ® 16" CONCRETE FOOTING , T@&B‘?&E@ﬁ
( HEX BOLT : w/ 4 — 10M VERTICAL BARS'
(w/ RUBBER GASKETS & 3 — 10M TIES EQUALLY
ggﬁISTURBED SPACED (CONTRACT A) | \
Al . ((3\BASE PLATE CONNECTION
i\ \Scmy 1”2196‘“0” DETAH— :. drawn J l B upprovedD W
date
/1\SIGN 4 FOO TNC ( OPTION 2)
SC“ 3/8 “""1 “‘O ELEVAT'OM \;x'/ ;‘v"\\ project number drawing number
Seos oy






